COP 3223 Section 3 Exam #1

Form A

Fall 2010

9/29/10

Lecturer: Arup Guha

Directions: Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. Hand in ONLY the scantron, keep the test questions, and take the free response section of the exam.

All of these questions will be based upon a code sample attached to the end of this portion of the exam. You will be asked either to (a) Identify the output of a statement or segment of code within the program, or (b) Answer a question about a statement of code within the program.

NOTE: For ALL questions, choice E is “None of the Above”. This choice IS a possible answer for each question.
1) What is the output created by the line labeled “Question #1”?

a) 9/29/2010
b) 9


c) 9\29\2010
d) 9



        29\2010



   29\\2010

2) What is the output created by the line labeled “Question #2”?

a) a = 3, b = 5, c = 1

b) a = 6, b = 4, c = 8

c) a = 5, b = 4, c = 7

d) a = 3, b = 4, c = 7

3) What is the output created by the line labeled “Question #3”?

a) ave1 = 85.0, ave2 = 85.0
b) ave1 = 85.0, ave2 = 85.5

c) ave1 = 85.5, ave2 = 85.0
d) ave1 = 85.5, ave2 = 85.5

4) What is the output created by the line labeled “Question #4”?

a) leftover = 8


b) leftover = 12


c) leftover = 20


d) leftover = 44

5) What is the output created by the line labeled “Question #5”?

a) ans = .7
b) ans = -.7
c) ans = 6.0
d) ans = -6.0

6) If the programmer was trying to solve for one root (out of two) using the Quadratic Formula in question #5, what change should she make to the line of code where the variable ans is declared? (Note: The quadratic formula is [image: image2.png]b+ Vb —4ac



.)

a) 2*a_1 should be replaced with (2*a_1)

b) The sqrt should be changed to a call to the pow function using the exponent 3.

c) The last division sign should be changed to a multiplication sign.

d) The entire expression on the right hand side should be divided by a_1.

7) What is the output created by the line labeled “Question #7”?

a) Club A: Yes
  b) Club A: Yes   c) Club A: No   d) Club A: No

   Club B: Yes      Club B: No       Club B: Yes     Club B: No

8) What is the output created by the line labeled “Question #8”?

a) Scholarship A  b) Scholarship B  c) No Scholarship D)
9) What is the output created by the line labeled “Question #9”?

a) age = 21   b) age = 23   c) age = 24   d) age = 25
10) What is the output created by the line labeled “Question #10”?

a) age = 21   b) age = 22   c) age = 25   d) age = 26

11) What is the output created by the line labeled “Question #11”?

a) dog age = 100  

b) dog age = 101  

c) dog age = 102

d) dog age = 103

12) What is the output created by the line labeled “Question #12”?

a) i = 9, sum = 9

b) i = 10, sum = 10

c) i = 9, sum = 45

d) i = 10, sum = 55
13) What is the output created by the line labeled “Question #13”?

a) i = 9, sum = 9

b) i = 10, sum = 10

c) i = 9, sum = 45

d) i = 10, sum = 55
14) How many times does “Go Knights!” get printed by the code segment designated “Question 14”?

a) 4

b) 5

c) 6 
d) 7

15) How many times does “Go UCF!!!” get printed by the code segment designated “Question 15”?

a) 8

b) 9

c) 10 
d) 12
16) What is the output created by the line labeled “Question #16”?

a) i = 8

b) i = 13

c) i = 43

d) i = 73


17) What is the output created by the line labeled “Question #17”?

a) age = 21
b) age = 25
c) age = 26
d) age = 28
18) What is the output created by the line labeled “Question #18”?

a) Answer = 0.5

b) Answer = 2.0


c) Answer = 8.0

d) Answer = 16.0

19) Which of the following numbers can NOT be printed by the line of code designated for “Question 19”?

a) 50

b) 98

c) 99

d) 100

20) It has been rumored that North Korean ruler Kim Jong Il will hand over power to his son, Kim Jong Un, in the near future. Which country lies directly south of North Korea?

a) South Korea
b) USA
c) Russia
d) Tanzania

#include <stdio.h>

int main() {

    printf("9\n29\\2010\n");  // Question #1

    int a = 3, b = 5, c = 1;

    b = a + c;

    c = a + b;

    a = b + c;

    printf("a = %d, b = %d, c = %d\n", a, b, c);         // Question #2

    int test1 = 77, test2 = 94;

    double ave1 = (test1 + test2)/2;

    double ave2 = (test1 + test2*1.0)/2;

    printf("ave1 = %.1lf, ave2 = %.1lf\n", ave1, ave2);  // Question #3

    int hours1 = 17, hours2 = 13, hours3 = 14;

    int leftover = (hours1 + hours2 + hours3)% 24;

    printf("leftover = %d\n", leftover);                 // Question #4

    double a_1 = 3.0, b_1 = 8.0, c_1 = 4.0;

    double ans = (-b_1 + sqrt(b_1*b_1 - 4*a_1*c_1))/2*a_1;

    printf("ans = %.1lf\n", ans);                        // Question #5

    // Note: Question #6 is about the code in question #5

    /*** Question #7 starts here. ***/

    int age = 31;

    if (age >= 18 && age <= 30)

        printf("Club A: Yes\n");

    else

        printf("Club A: No\n");

    if (18 <= age <= 30)

        printf("Club B: Yes\n");

    else

        printf("Club B: No\n"); 

    /*** Question #7 ends here.    ***/

    /*** Question #8 starts here. ***/

    int sat = 2200;

    double gpa = 3.3;

    if (sat >= 2000)

        if (gpa >= 3.5)

            printf("Scholarship A\n");

    else

        printf("Scolarship B\n");

    if (gpa < 3.0)

        printf("No Scholarship\n");   

    /*** Question #8 ends here.    ***/

    age = 23;

    if (age = 21)

        age++;

    printf("age = %d\n", age);     // Question #9

    age = 25;

    if (age == 21);

        age++;

    printf("age = %d\n", age);     // Question #10

    int dogage = 0;

    while (dogage < 100)

        dogage += 7;

    printf("dog age = %d\n", dogage);          // Question #11

    int i = 0, sum = 0;

    while (i < 10) {

        i++;

        sum = sum + i;

    }

    printf("i = %d, sum = %d\n", i, sum);      // Question #12

    i = 0, sum = 0;

    while (i < 10)

        i++;

        sum = sum + i;

    printf("i = %d, sum = %d\n", i, sum);      // Question #13

    /*** Question 14 is based on this code segment ***/

    for (i=2; i<20; i=i+3)

        printf("Go Knights!\n"); /*** End of Question 14 code segment ***/
    /*** Question 15 is based on this code segment ***/

    for (i=0; i<50; i+=4) {

        if (i%6 == 0)

            continue;

        printf("Go UCF!!!\n");

    } /*** End of Question 15 code segment ***/
    i = 0;

    while (i < 200) {

        if (i%3 == 1 && i%4 == 1 && i%5 == 3)

            break;

        i++;

    }

    printf("i = %d\n", i);       // Question #16

    age = 25;

    do {

        age++;

        age++;

        age++;

    } while (age < 21);

    printf("age = %d\n", age);   // Question #17

    printf("Answer = %.1lf\n", pow(2, pow(.2, -1)));    // Question #18

    // Question 19 is based on this line of code.

    printf("Secret Number = %d\n", rand()%50 + 50);

    return 0;

}
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Last Name: ____________ , First Name: _____________
Note: You may declare extra variables for any of the following questions.

1) (10 pts) Complete the program below so that it reads in from the user her average running speed in miles per hour and the number of minutes she will run, followed by outputting the total number of miles she’ll run, rounded to two decimal places. Note that the input values will be integers, but the final output will be a double.

#include <stdio.h>

#include <math.h>

int main(void) {

  int min_run, mph;

  double miles_run;

  printf("What is your average running speed in mph?\n");

  scanf("%d", &mph); 

  printf(“How long are you running, in minutes?\n”);

  scanf(“%d”, &min_run);

  return 0;

}

2) (10 pts) In Arup’s favorite basketball game, he gets 60 seconds to shoot free throws. The first 10 he makes are worth 1 point each and all subsequent ones are worth 2 points. Complete the program below so that it reads in the number of free throws made in 60 seconds and outputs the user’s score.

#include <stdio.h>

int main(void) {

  int freethrows, points;

  printf("How many free throws did you make in 60 seconds?\n");

  scanf("%d", &freethrows);

  printf("You scored %d points.\n", _____________ );

  return 0;

}

3) (10 pts) You have two parties to attend. You bring n slices of pizza to the first party. You give out as many pieces to each of the attendees (except yourself) so that each receives an equal number of pieces. You then take the leftover pieces to the second party and repeat this process. The pieces leftover from this second party are the ones you actually get to eat. Complete the program below so that it correctly calculates how many pieces of pizza the user gets to eat in this scenario. The user will input the initial number of slices of pizza, and the number of people at both parties. (For example, with the values 17, 10 and 5, you get 2 slices at the end.)

#include <stdio.h>

int main(void) {

  int slices, party1, party2;

  printf("How many slices of pizza did you start with?\n");

  scanf("%d”, &slices);

  printf(“How many people were at the first party?\n”);

  scanf(“%d”, &party1);

  printf(“How many people were at the second party?\n”);

  scanf(“%d”, &party2);

  printf(“You end up with %d slices for yourself.\n”, slices);

  return 0;

}

4) (10 pts) Arup’s pool has many algae in it. In particular, on Day 1, there are 1000000 algae in his pool. On each subsequent day, the number of algae in his pool is equal to 1.05 times the amount of algae in his pool on the previous day, rounded down to the previous integer. (ie. 19.9 rounds down to 19.) Write a segment of code that prints out a chart that shows how many algae are in Arup’s pool starting from day 1 through day 150. The chart should have two columns, one for day number and one for number of algae. No need to worry about formatting.
